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H22 19 12 10 10 6 RILLTILTER 0.08mg/L
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H21 20 12 10 10 6 N ZO0OEEE 0.2mg/L
H22 25 16 12 10 8 RILLTZILTER 0.08mg/L
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H18
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H20 11.2 2.9 0.8 0.2 0.0
H21 11.6 2.9 0.9 0.2 0.0
H22 11.6 3.0 0.9 0.2 0.0
#Hok AORI(H22)
(BN | 95%1E | 75%fE | 50%fE | 25%fE | 5%fE
1T 7.4 3.0 1.0 0.1 0.0
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H22 33.6 2.1 0.0 0.0 0.0
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10-50 434 199 2.2 0.0 0.0
50L) 33.1] 200 9.1 2.9 0.0
[#A7K A O (FE8h) — PHE (it Eh) #x2n X]
100
80 ] u
60 - .
40 : -'- x - ""‘-'u'-u-'-.
" X = " - -‘ R L " - .
20 - : -"':.' --.. .'-.'.'- -..--: ! w -“.' ] -
. r " "'. Y e 2% : L] .- . .
! - -. L E - i""‘l--' -}" FPr LN x
0 S PR R AT N L S B LR L -
1,000 10,000 100,000 1,000,000 10,000,000




2001 $57k AAQ— A& =Y Bk /KEL/AN)

LFKESEHE AT S 1436
BB E(RAEKIEROMY)/ 2+ BAFFKEREM?)
FrBKEL/ N)= x 1000
#KAB)
350 - —— 100%
255
1 75%
250 77 °
£ 200 - ;Z
w 1 50%
i / 143 °
150 7’ e
91
100 / BRI RS 1 25%
50 1 1 | 41 32
23 31
g 10 |_||—|1914 15009, 5
0 = 0%
OOOOOOOOOOOOOOOOOOOOOSEIJ
Te] o o o o o [Tp] o [Te] o Lo o [Tp) o Lo o Lo o [Te) o
| - - N N ™ [ap] < <+ [Te] Te] © © r~ r~ (o] (0] (=] (=] o o
C L b L L 4L L L LSS Sb LSS 88484 T8
o o o o Tp] o Tp] o Lo o Lo o [Tp) o [Te) o Tp) o o —
~— — N N ™ ™ < < o o © © r~ r~ [ce] [ee] (=] 8
2001 #A7K AO— A& -YBFBERHEKEWL/N)
(#rEHE] (LK)
FEEFI
() | 95%1E | 75%fE | 50%fE | 25%fE | 5%fE
H18 674 279 191 138 76
H19 676 279 192 140 82
H20 692 280 194 142 86
H21 674 280 196 143 90
H22 656 280 196 144 91
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(BN | 95%1E | 75%fE | 50%fE | 25%fE | 5%fE
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